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Zte sin cos tan

34° 0,5592 0,8290 0.6745
35° 0,5736 0,8192 0,7002
36° 0.5878 0.8090 0.7265
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2 36° = — = 0.8090
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2t | AFQl(sin) | EAFRl(cos) | EtMIE(tan)

59 | 0.6293 | 0.7771 | 0.8098

40 | 0.6428 | 0.7660 | 0.8391

4 | 0.6561 | 0.7547 | 0.8693

42 | 0.6691 | 0.7431 | 0.9004
®39°  @40° ®4° @p 6 e

sin42° = 0.6691
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25° 0.42 0.90 0.46
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70° 0.93 0.34 2.74
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2te sin cos tan
14° 0.2419 0.9703 | 0.2493
15° 02588 | 09859 | 0.2679
16° 0.2766 0.9613 | 0.2867
sin x = 0.2766 , tany = 0.2493
® 28° @ 29° @30° @ 31° ® 32°
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tany = 0.2493 ..y = 14°
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